Name: Teacher
Assessment Topic 11 - F
Graphs
Section A Coordinate Geometry Grade G/F
1. (@  On the grid plot the points with coordinates (3, 1), (5, 1) and (4, 4).
y A
6
5
4
3
2
1
0 > X
1 2 3 4 5 6
)
(b) Join the points and give the mathematical name of the shape.
ANSWET Lt
1)
(Total 3 marks)
2. The parallelogram ABCD is drawn on a centimetre square grid.
Ya
4
3
A 2 B
1

ANSWEr B (L v,
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y A Topic 11 - F
Graphs

3. Triangle ABC is drawn on a grid.

4 3/2 160 1 3 4 x
-1
C ~ \
\

_3 B

4
Write down the coordinates of A, B and C.
Answer A(............ yeereanens ) B(.... perreeeeans ) C(oeennnn.n. e )

(Total 3 marks)

5. Points A, B and C are three corners of a square ABCD. Success:
y 4
! C
6
5
4
3 5 Target:
2
1 *a
0 8
0 1 2 3 4 5 6 7 X
(@)  Write down the coordinates of A, B and C.
Al e ) = PR [ e ) (O (T ) e )
)
(b)  The point D (0, 5) is the fourth corner of the square.
Mark, with X, the position of the point D on the grid.
1)

(Total 3 marks)
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Topic 11 - F

Teacher Graoh
Assessment raphs
Section B Straight Line Graphs Grade E > C
1. A line AB is shown on the grid.
y A
7
6
5
448
3 P
2
1
0 B ,
o 1 2 3 4 5 6 7 8 9 X
(@) Mark the mid-point of AB. Label it M.
@)
(b) Write down the coordinates of M.
ANSWEr (cveveirenenee. e )
@)
(c) Draw a line through the point P, parallel to the line AB.
1)
y (Total 3 marks)
A
2. The diagram shows the points P (0, —4) and Q (5, 2).
/ Q
0 X
Find the coordinates of the mid-point of the line segment PQ.
............................................................................................... P

(Total 2 marks)
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3. (@ Onthe grid below, draw the graph of y = 2x — 3 for values of x from -2 to +3.

Topic 11 - F
Graphs

(b) Theline y=2crossesy=2x—3atP. Write down the coordinates of P.

AN QIS\VIV/=] o (R L eeeeein

4. On the grid below, draw the graph of y = 7 — x for values of x from 0 to 7.
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yA

h

@)

(1)(Total 4 marks)

6 1 t
(Total 3 marks)



Topic 11 - F
Graphs
5. Theliney =-3 crosses the line y = x — 2 at the point P.
What are the coordinates of P?
You may use the grid below if you wish.

x Y

ANSWEL (cvveeveieieiiee e ) e ———————— )
(Total 3 marks)
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Topic 11 - F
Graphs
6.  On the grid below draw the graph of y = 3x — 1 for values of x from 0 to 5.

yA

17

16

15

14

13

12

11

10

(Total 3 marks)
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Topic 11 - F
Graphs

7. (@  Onthe grid draw the graph y = 2x + 3 for values of x from 0 to 4.

13

12

11

10

@)
(b) Solve 2x+3=75

(2)(Total 5 marks)

Success: Target:
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Topic 11 - F

Teacher Graoh
Assessment raphs
Section C Real Life Graphs Grade F > C
1. This is a conversion graph for gallons and litres.
404
30 z
Litres 5=
20 F
10 1
0 . >
1 2 3 4 5 6 7 8
Gallons
(@  Use the graph to convert
(i) 4 gallons to litres,
ANSWET <. litres
(if) 30 litres to gallons.
ANSWET Lo gallons
)
(b) 50 gallons is approximately 225 litres.
Explain how you can use the graph to show this.
1)

(Total 3 marks)
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Topic 11 - F

Graphs
2. Onagasoven
300°F = Gas Mark 2
and  450°F = Gas Mark 8
(@)  Plot these values on the grid.
A
9
8
7
6
Gas
Mark °
4
3
2
1
\v/ >
275 300 325 350 375 400 425 450 475
Temperature °F
)
(b)  Join your points with a straight line.
@)
(c)  Using your conversion graph, or otherwise, work out the Gas Mark for a temperature of
375°F.
ANSWETN Gas MATK ......coveieeriirieieieeeeree e
)

(Total 5 marks)
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Topic 11 - F

Graphs
3. A speed limit in France is 100 kilometres per hour.
The speedometer shows the speed of a lorry.
(@)
ANSWET .ottt km/h
)
(b) (i)  Use the graph to convert 32 kilometres per hour into miles per hour.
A
20 -
miles 16 i
per P
hour 12 ~
8 EE=a
4 p
0+ >
0 4 8 12 16 20 24 28 32
kilometres per hour
ANSWET ..ottt eneas miles per hour
@)
(i)  Convert 96 kilometres per hour into miles per hour.
ANSWET <. miles per hour
)

(Total 5 marks)
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Topic 11 - F

Graphs
4. (@) Liquid is poured at a steady rate into the bottle shown in the diagram.
As the bottle is filled, the height, h, of the liquid in the bottle changes.
Which of the five graphs below shows this change? Give a reason for your choice.
Graph A Graph B
h A h 7' N
Time ” Time >
Graph C Graph D
h A h A
Time g Time >
Graph E
h A
Time >
12 ) o
REASOM .o e
)
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Topic 11 - F

ha Graphs
(b) Liquid is poured at a steady rate into another container.
The graph shows how the height, h, of the liquid in this container changes.
Sketch a picture of this container.
Time ”

(1)(Total 3 marks)

5. The graph shows a train journey from A to D, stopping at B and C.

D 404 >
30 Bna
C p
/V
Distance (km) 20 /
B 10 d
//
A 0 >
1000 1010 1020 1030 1040 1050
Time
(@) What is the time when the train leaves B?
ANSWET it
@)
(b) How farisitfromAtoC? ANSWET . km
@)
(c)  During which part of the journey did the train travel the fastest?
Explain your answer.
ANSWET i
EXPIANALION ..ot
)

(Total 4 marks)
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Topic 11 - F

Graphs
6. The graph illustrates a 1000 metre race between Nina and Polly.
1000 >
Distance Be 2/
(metre) -
e /
7 T /
= Nina
- ——- Polly
500 2
£ T
/7
/
/
/4
/
/
o
0O 20 40 60 80 100 120 140 160 180 200
Time (seconds)
(@) Who was in the lead 10 seconds after the start of the race ?
ANSWET Lttt
1
(b) Describe what happened 20 seconds after the start of the race.
1
(c) Describe what happened to Nina 90 seconds after the start of the race.
1
(d) Who won the race?
ANSWET it
1)

(Total 4 marks)
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Graphs

Topic 11 - F

Time (hours)

@)

@)

km

€]

)

(Total 5 marks)

km/h

14

The graph shows Adil’s bicycle journey.

7.
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Calculate Adil’s average speed during the first 30 minutes of his journey.

How many times is Adil exactly 10 km from the start of his journey?
Give your answer in kilometres per hour.

What is the total distance that Adil travels on his journey?

How many times does Adil stop on his journey?

(@)
(b)
(©)
(d)
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Topic 11 - F

Graphs
The distance-time graph shows the journey of a train between two stations.
The stations are 6 kilometres apart.
A
6
5
Distance 4
(Kilometres)
3
2
1
0 >
0 1 2 3 4 5 6 7 8 9 10
Time (minutes)
(a) During the journey the train stopped at a signal. For how long was the train stopped?
ANSWET .ot minutes
1)
(b) What was the average speed of the train for the whole journey? Give your answer in
kilometres per hour.
ANSWEN ..ot kilometres per hour
)

(Total 3 marks)
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Topic 11 - F
Graphs
9. The graphs show two parts of a train journey. Describe in words what is happening in each part.

(a) Speed (b) Sp%d
Tlmt; Tlmé
..................................................................... (1) e (2)
(Total 3 marks)
10. A rectangular tank contains water.

The height of the water is 8 cm.

The length of the diagonal of the surface of the water is 10 cm.
Water is leaking from the tank at a steady rate. .
. 10em™
The tank is empty after 2 minutes. M =
&cm
Jmm—— ]
-
v -
(a) Sketch the graph of the length of the (b) Sketch the graph of the height against the time.
diagonal against the time. (1 mark) (1 marks)
& -~
12
154
Height
L;ngth of {em)
diagonal 104
(cmy)
4
5_
|:| T T I:I T T =
0 1 2 ] 1 2
Tirne {minutes) Time (minutes)

(Total 2 marks)

Success: Target:




